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(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
: 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Zhllis 1.00| 000 ~ 477 59.41 | Zhkist | 0.00 ~ 0.00| 1.69 8.56 Zhls 1.00 | 500 ~ 5.00 59.41 | #nklst | 5.00 ~ 5.00 | 1.69 8.56
9 100kN/ Mm%z 2% 1.00 | 000 ~ 174 126.72 |3m%EHE 25 — ~ - - —| 100kN/m%#E%%| 1.00 |10.69 ~ 17.50 126.72 |3m%E#BZ5 -~ - - -
Fh s 1.00| 1.74 ~ 953 100.00 | #htblst | 000 ~ 953 | 2.28 11.55 FhnLs 1.00 | 500 ~ 10.69 100.00 | ZHhllst | 500 ~ 1750 | 2.28 11.55
3 100kN/m%#%%| 1.00| 000 ~ 067 110.03 |3mZE#B x5 -~ - - — | 100kN/i%i#8%% | 1.00 |10.54 ~ 12.45 110.03 |3mZ# x5 -~ - - .
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100kN/M%ZH#EZ % ~ ImEHEAD ~ 100kN/ mM%Zi#BZ % ~ 3mEEZD ~
Fhist ~ Fhist ~ Fhiis ~ Zhlst ~
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100kN/MZ#8 %% ~ ImEHEZD ~ 100kN/mM%Z#EZ % ~ 3mEHEZD ~
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